AO4 o zhE

20134£3H23H EHN

GE ERKE ER T OB ERL R EE

%%

syl
[ayay

TSI ST

J

B

PORR R TR A SN I N

Wil , 2 2% BT A B ik AR AT IRIE 3
A28, A&l ok EZRLAAT
QRN PPN E A SRR - SUN
* T 48 Sk A e T I EXEPE
SR, RAL Tk B ik, L
56 X J8) M ik e d% £ B E 1E AT
I, B R RAEZHRAK LR R &
R B S R T

FAP R EATRE E

==

] it

i8E XfEE

AESEZZESAL
14 X8 ERRER
54 P ERTER R

Bz, O 7 H o AR &4

ANEFRA A AZ R

B R 18 77 i « B 18] 3R

IS TS, 2SS
RiBEZENEREE, 1
THEL RN 1B
EERARENE

T = A2 B
RER I AR SR, 22 [0
ENNE RS, —
B2 T A S R B T g
AU B 53, 2 2R 7 2R s
WEFR IS 1, I B T e
2R, MRiBE IR s, M (e
8 9 3] s A K 33 55 R 422
&,

B XIS h N
L, SR SN 5
BRI REAS W S 2 401
[ e G E , MEREE R
MIIE , A HE ST = N ]
ARG Z H XA
T ARIE AN EE RS
52 MR AR
RIS, R H iz E 5
V) R O s PR R
HATZER . XS
RN LS A, (F s
IR TN IR,

AN, B RE I A
GE N S T B EE R
B, BTLAN S s A S S T
BEEBEEE E A GEE
o RN SR R G T
EVEEESEL I ERE
R TN SNSRI, B
e £ T B R Ik
TR,

I3 =t

i (=5
==

VIEE| =

S(BEE)
T(E$1E)

1. XERE A AR 5k 518.4 2B ¥ 18
XA &S 7B ik 614.2 0 2 B F 13
2.XEFE A A ik 61420 2 ¥ i3
X [B) 48 i . 7 IR 2 3k 658.7 A 2 -3
3. X BJRE A : 7 AR 33k 658.7 A 2 -1
[X [B) 48 f : 7 L 2y 3k 708 2 .5 -3
4 XERE A AR FHik 708 A 2 K ig
X B 2R i TR A By ik 74420 279 F- 1%
5. X B2 & : 7 A R 31k 496.8 A 2 A K1
X [B) 48 £ : TR L 2y 3k 544 2 2 A K13
6. X B2 A : A IR ik 544 N 2 A F g
XA &S iR 5k 6285 N2 4 F &
7. XERE A AR ik 628.5 A 2 A K
X [B] 48 /. 7 I 2 3k 658.8 A 2 A K-
8.XEJfE M : ML 51k 658.8 N 2 AR F i3
X [B) 48 g - R 2y 3%k 691 2 A K1
9.XEfE & : % F 5k 500.3 2 2 b g
X B 2% 35 F %k 592.2 0 23k F 43
10. X [BIRE M iF F ik 592.2 2 2 b ¥4
X E)&& i % F 512 636.9 A2 L F g
11.X B % F 5k 636.9 243
X B i % F 51k 678.7 A2 L F g
12.XEfEA: kK &k 1798.05 A2 & ¥ 18
RS k) 5k 1929.5 2 & F 15
13. X B m: KBk 223.5 A 2 g -1
R B &S K5k 137.8 N2 18
14 XEfE R : AT Hik 1302 d ¥ g
R B S M 5k 2350 2 F g

2 W LR A SR A R AT Bk I UE I

1. BRI = 496km+800m HE 5]
2. K 1775km+50m HAE 75
3N 53km+100m H& /A
4. ERE 1102km+500m HHE 5 1A
5T 27 1km+900m H#E 1)

7S 414km A TS

8. K= 2308km-+900m HA J5 [
9.5%) =i 355km+800m HiA4 /5[]
10522 5H 294km+900m HI 5[]
11.5%) 0H 395km Hi& 51

12 2R = 44 1km & 51

13.2) Bk 1448km H 5 1A
14.JFBEEE 1266km+200m HA T 1]
15 5O ST 990km HIHE T3 1]
16,7 B 1 776km+400m HS 5]
17 52 50H 38 7km+700m LAl

18. SO 13 518km+400m PHA(H
19 5B I 544km 7R

20. 5O 614km+20m P
21 SUES I 628km-+500m 241l
22 SUEE I 693km-+400m 2RIl
23 S 743km FH{AIH

24 SUEE I 803km-+300m R4l
25 SUEIR ST 866km PHFA1E

26 SUEE I 966km+200m 241l
27. K =K 1929km+500m PHfAIE

1. 5O =5 693km+600m PH 41
2 FUEIREH 707km+500m PHA1E
3 4 500km FAAR

4 = 678km B IR

5 R EH 565km+300m FAJ4 IR

509% L E1Y, $10200~2000 75,30 1295, ATRAIFAE R 45, 510200 7T,

oS5
=
=3

VB I, I UE B i 20% DA B R IAF
50%I1, 1t 6 75 s S R I IHRK 20% 1) .12 3 956

BN BN ZRAE S A HEZE 35T Shkrh
SYBEESLY 30 1295, SiTE200 7T,

28. TS = 492km B IE

29 FRAE = 52km+30m B8
30. K T 1818km+700m PHAE
31 TR 223km+500m B3> 0E
32X i 260km+500m PHfA1iE
33. £ EE 1 172km+100m 2508
34. BRI 148km B> IH

35. %= 116km+800m FF=IiF
36.% 5 137km+800m 5> E
37. 79 S 725km PEFIE

38. LU 658km+700m PHH1R
39,7 B 820km+500m R
40P 8= 944km+800m - L2411
41K =K 2257km+700m ZRF i
42K =K 2243km+100m PH1E
43 KT =iH 1964km ZRAR

44 ZEEESE 500km+300m Fa Al
45 ZEEE = 678km+700m Fa A1l
46 345 = 636km+900m Fa 41l
47 RS 58 1km+800m -] A1l
48 ZEEE =R 592km+200m Fa A1l
49 SO R 658km+800m 7R HAIIE
50. U 708km FHAE

51 = EE = 289km 7R H

52 M= 13km P41

53 M1 =5 23km FHA1E

54 M 13755 13km ZR240E

(A Bl ik 3E A A &
EREERNAERE
I U S i A
173% F 6 MR 9% )

BEIEE EE R AR EENIEER, L 12

BRI FEREH RS R EKRYIE
7R R i AN B IR T R TR i R
H209% A EFRIK 50%01 10 1295, $7200 7T

R R SRR, 10695



